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2001 136 katrilyon TL. 72,1 milyar $
2002 149 katrilyon TL. 91,7 milyar $
2003* 183 katrilyon TL. 125,8 milyar $

GSMH
Cari fiyatlarla Sabit Fiyatlarla (1998)
TL. $ TL. $

(Katrilyon) (Milyar) (Katrilyon) (Milyar)

2000 125,5 201,9 53,447 203,9
2001 176,4 145,6 48,351 184,5
2002 273,4 181,6 52,111 198,8
2003 354,5 236,1 54,716 208,8

D�
������	�
2000 118,68 milyar $
2001 113,81 milyar $
2002 131,26 milyar $
2003* 142,03 milyar $
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2001 2002 2003 % de	
�
�

 Zeytin 600 1.800 900 -50,0
 ������������� 12.633 16.396 13.090 -20,2
 F����� 625 600 490 -18,3
 So	��������� 2.150 2.050 1.800 -12,2
 Ayçiçe	
 650 850 800 -5,9
 Tütün 145 161 152 -5,6
 Turunçgiller 2.478 2.493 2.423 -2,8
 Çay 825 792 770 -2,8
 Bu	��� 19.000 19.500 19.000 -2,6
 Arpa 7.500 8.300 8.100 -2,4
 Pamuk 900 979 959 -2,0
 Elma 2.450 2.200 2.500 13,6
 M���� 2.200 2.100 2.800 33,3
Kaynak: D��

(milyon $) 2000 2001 2002 2003*
D�� DPT D�� DPT D�� DPT D��

������� 27.774 30.721 31.334 34.373 36.059 40.031 42.385
������� 54.502 53.131 41.399 38.916 51.553 48.472 60.678
     D����
������������
 -26.727 -22.410 -10.064 -4.543 -15.494 -8.441 -18.293
    Cari �
�
��
���
�	�� -9.819 3.390 -1.624 -4.034
* Ocak-Kas���� ���
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